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1.20 GB = _MB -
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3. PARIEEMETIEES I000MHz > BIEARALEL _ mse
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5. Tol AT - SUM A 4 s

int 1, sum = 0;
for (i=0; i<10; 1 += 2)
sum += i;
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10. RWD (& fe X 8 B 3x3t) X245

IRIBRE (598 4 ) & B O R
X T _El Rl
LEE G opsd 4 X 4405 » B H A T o748 3387
(A) LPT (B) COM (C) USB (D) PS/2
2. #2 X3 # £ (Program Counter) #9344 41472 % ( H‘Q’E
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(A) 4% B R HE (B) ik Ak (C) @M E Rk (D) BHME R
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(A) MIPS (B) BPS (C) CPS (D) CPI

5.1 #4# (microsecond) & % ‘b g #» (picosecond) ?
(A) 10° (B) 10° (C) 1073 (D) 10°
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(A)IE A B) A& (OF PN (D)
1. —BRGEERANEETBT %3 L P47 A 4 T
A) FLAT B) FATL ©C) T¥ALT
8. TIMTHARRBFEET 6h4542
(A) B4 (B) ET4EH C) BTHH
9. FHINEFay BAEE R R A R W
(A) AGP (B) PCI (C) SATA (D) ISA
10. —f@USB ##& &k T U S L EHEHE E?
(A)8 (B) 16 (C)32 (D) 127
L. Ty msssts - Tk % H TR — 5 r ZiafE it F 42
(A) Bridge (B) Switch (C) Modem (D) Hub
12.IPV6 4% F T % b 43 70 64 ik ?

(A) 32 (B) 64 (C) 128 (D) 256
13. B AT IPv6 R{& A TF #4742

(A) unicast ¥ % (B) anycast 1£#% (C) multicast #£3%

4TI TR BETHMEF R E?
(A) POP (B) SMTP (C) IMAP (D) SSL
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